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11.

12.

13.

Consolidation work 2 - First Level ***

Please show working/strategy for questions in red.

Write in words: 345

Werite in figures: three hundred and two
Circle the numbers that have 2 tens
322,21,12, 553, 257, 525

Fill in the missing numbers: 7, 14, , 28,

’

Fill in the missing numbers: 85,___,75,70, ___,

Fill in the missing number

671 = __ hundreds, 7 tens and __ unit
6 lotsof 10=____

What number is two less than 560?

Find the difference between 40 and 90

Round 692 to the nearest 10

What is half of 88?

What is double 62?

62- 27
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20.

Alan wants to buy three packets of crisps. He has 95p in his pocket. One packet of

crisps costs 30p. How much does he have left over once he's bought the crisps?

Divide 45 by 5

250g T 5009

What weight is the arrow pointing t0?

The shop opens at 8.15am and closes 8 hours 30 minutes later. What time does the

shop close at?
What is 1/5 of 45?
485 + 300

David buys 24 hats for the party. One third of them are green. How many hats are

not green?



